Trig - Section 2.3 - Reference Triangles and Angles = EI a° +b
For an arbitrary angle 6: p(m“’} .
1) To form a reference triangle for 0, B
drop a perpendicular from a point P(a, b) L r .
on the terminal side of 6 to the horizontal P \“?ii’
axis. < ;7 ::? >

2) The reference angle o is the acute angle
(always taken positive) between the terminal
side of 0 and the horizontal axis.

Note: P(a, b) is a point on the terminal side of 6, (a, b) = (0, 0)

a) QIL: P(3,4)

Trigonometric Functions with Angle Domains

b) QIT: P(-3, 4)
A

c) QIII:P(-3,-4)

d) QIV:P(3,-4)
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How would be determine the value of r?
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1) Find the exact value of each of the six ftrigonometric functions for the
angle @ with the terminal side containing P(-4, -3). (Like HW #3)
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2) Find the exact value of each of the other five trigonometric functions for
the given angle 6 , without fmdmge given that the terminal side of 0 is in
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3) With a calculator, evaluate each to four significant digits. Pay attention to
the MODE of your calculator! (Like HW #15-30)
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4) The Department of Energy reports that wind-produced electricity will jump

to close to 1% of the nation's total electrical output by the year 2010. A

particular wind generator can generate alternating current given by the equation:
I=50cos(120xt +457) A FRadian Mod

where t is time in seconds and I is current in amperes. What is the current, I,

(to 2 decimal places) when t = 1.09 sec? (Like HW #91)
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5) Which trig functions are positive in the: f;@ Studedt> Al A1
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6) In which quadrants must the terminal side of an angle 6 lie in order for each
of the following to be true?
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a) sin6>0 b) sec6 >0 ¢) cos8<0 d) csc6<0
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7) In the figure, the coordinates of the center of the circle are (0,0). If the
coordinates of A are (4, 0) and the arc length sis exactly 10 units, find:
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(b The coordinates of B( to three significant digits). F Rodion meste®
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